
Oops Dragon Colour by Calculation

dark blue = 1 to 10

yellow = 11 to 20

brown = 21 to 30

green = 31 to 40

light blue = 41 to 50

white = 51 to 60
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Oops Dragon Colour by Calculation Answers

dark blue = 1 to 10

yellow = 11 to 20

brown = 21 to 30

green = 31 to 40

light blue = 41 to 50

white = 51 to 60

5 + 5

2 + 3

12 - 6

4 + 4

18 - 5

32 + 10

10 + 6 22 + 6

32
 -

 7

15
 +

 7

19 + 5

25 + 2

45 - 6

32 + 2

42 - 7

38 + 1

27 + 5

30 + 8

42 + 6 53 - 8 59 - 9

35 + 10

40 + 4

21 + 20

65 - 6

50 + 3

60 - 8

54 + 2

69 - 10

53 + 7

30
 -

 3

7 +
 6

6 + 5

11 + 5

5 - 3

11 - 3

19 - 9

visit twinkl.com

https://www.twinkl.co.uk/resources/topics/festivals-and-cultural-celebrations

